1g729.23. The circular plates have radius 4.00 cm, and at a partic- |
ular instant the conduction current in the wires is 0.280 A. (a) What !
is the displacement current density j, in the air space between the ;
plates? (b) What is the rate at which the electric field between the |
plates is changing? (c) What is the induced magnetic field between |

the plates at a distance of 2.00 cm from the axis? (d) At 1.00 cm |

4 @ A parallel-ﬁi;te, air-filled capacitor is being charged as in |

- ’
from the axis? 29.23 A capacitor being charged by a cur-
rent ic has a displacement current equal to
Ic between the plates, with displacement-
current density j, = e dE/dt. This can be
regarded as the source of the magnetic
field between the plates.
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C&O.IO. he inductor shown in Fig. 30.18
as inductance 0.260 H and carries a current in the direction

shown. The current is changing at a constant rate. (a) The potential
between points a and b is V,, = 1.04 V, with point a at higher
potential. Is the current increasing or decreasing? b) If the current

|

att = 01s 12.0 A, what is the current at t = 2.00 s?
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. Figure 30.18 ‘_C;.*
- Exercises 30.9 ‘
and 30.10.
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130.60. While studying a coil of Figure 30.20" Problem 30.60.
unknown inductance and inter- '

- nal resistance, you connect it in
series with a 25.0-V battery and
a 150-Q resistor. You then place
an oscilloscope across one of
these circuit elements and use
the oscilloscope to measure the
voltage across the circuit ele-
ment as a function of time. The
result is shown in Fig. 30.20. (a) Across which circuit elementy(coil
or resistor) is the oscilloscope connected? How do you know this?
(b) Find the inductance and the internal resistance of the coil,
(¢) Carefully make a quantitative sketch showing the voltage ver-
sus time you would observe if you put the oscﬂloscope across the
other circuit element (resistor or coil). '
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